


• The clock has 7:15 o'clock at what time will it be a problem for both the 

needles to turn 90 degrees for the first time?

• घड़ी में 7:15 बजे है किस समय दोनों सुइया पहल़ी बार 90 किग्ऱी िे कलए िोई समस्या 

होग़ी?

A.7:20𝟒/𝟏𝟏
B. 7:21 𝟗/𝟏𝟏
C. 7:51 𝟓/(𝟏𝟏 )             

D. 7:6 𝟗/𝟏𝟏



• Find the next term

• अगला पद ज्ञात िीकजए

• 1, 3, 6, 11, 18, ?

A.32

B. 29

C.27

D.30



• Anuj is 5 years older to Barkha and 7 years younger to Chandan, while 

Barkha and Dheeraj are twins. How many years older is Chandan to 

Dheeraj ?

• अनुज बरखा से 5 साल बडा है और चंदन से 7 साल छोटा है, जबकि बरखा और ध़ीरज 

जुडवां हैं। चंदन ध़ीरज से कितने साल बडा है?

A.10

B. 14

C.18

D.12



• AYD, BVF, DRH, ?, KGL

A. FMI

B. GMJ

C. HLK

D. GLJ



Arrange the following words according to the dictionary.

कनम्नकलकखत शब्दों िो शब्दिोश िे अनुसार व्यवकस्ित िीकजए

1. Grasp 2. Granite  3. Grass 4. Graph  5. Grape 

A. 5,1,2,3,4

B. 5,1,3,2,4

C. 2,5,4,1,3

D. 2,5,1,4,3



• Which of the following diagrams best depicts the relationship between 

Writer, Lawyer and Singer?

• कनम्नकलकखत में से िौन सा कचत्र लेखि, विील और गायि िे ब़ीच संबंध िो दशााता है?



• There are five houses A,B,C,D and E. 'A' is right of 'B' and 'E' is left of 'C' 

and right of 'A'. 'B' is right of 'D'. The middle house is

• पााँच घर A,B,C,D और E हैं। 'A', 'B' िे दायें और 'E', 'C' िे बायें और 'A' िे दायें है। 

'B', 'D' िे दायें है। ब़ीच िा घर है

A.A

B. B

C.C

D.D



• 6 Boys are sitting in a circle and facing towards the center of the circle. R is 

sitting to the immediate right of M, but he is not just to the left of V. S is 

between B and V. A is sitting to the immediate left of V. Who is second to 

the right of v ? 

• 6 लडिे एि वतृ्त में बैठे हैं और वतृ्त िे िें द्र िी ओर उन्मुख हैं। R, M िे ठ़ीि दायें बैठा है, 

लेकिन वह V िे ठ़ीि बायें नहीं बैठा है। S, B और V िे ब़ीच में है। A, V िे ठ़ीि बायें 

बैठा है। v िे दायें से दूसरा िौन है?

A.S

B. B

C.R

D.M



• Mukesh is 40 years old and he is five times as old as his brother Rohit. When 

Mukesh is thrice as old as Rohit, then the age of Mukesh is-

• मुिेश 40 साल िा है और वह अपने भाई रोकहत से पांच गुना बडा है। जब मुिेश रोकहत से त़ीन 

गुना बडा है तो मुिेश िी उम्र है-

A.44

B. 48

C.46

D.40



• At what angle the hands of a clock are inclined at 30 minutes past 6?

6 बजिर 30 कमनट पर घड़ी िी सुइयां किस िोण पर झुिी हुई हैं?

A.0

B. 12.5

C.15

D.10



• When a transparent paper is folded along the dotted line, choose the figure 

that follows the pattern given in the question.

• जब एि पारदशी िागज िो कबंदुदार रेखा से मोडा जाता है तो कदये गये कविल्पों मे से उस

कचत्र िा चुनाव िीकजए जो प्रश्न में कदये गये पद्धकत िा अनुसरण िरता है?



• Find number of triangle in figure?

• आिृकत में कत्रभुजों िी संख्या ज्ञात िीकजए?

1

3
2 4

6 8
75 9

10
11

12
13

14
15

16

A.27

B. 16

C.23

D.26



• Find number of triangle in figure?

• आिृकत में कत्रभुजों िी संख्या ज्ञात िीकजए?

A.22

B. 16

C.28

D.32


